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Gujranwala Board 2017 (First Group) -

‘m‘“v Y A 1
1 BJECTIVE TYPE) Time Allowed :2.10 Hours
PART - |

02. Write t¥iox arswers to any SIX (6) questions: | (2x6=12)

-

. A Bl 5l =]
(i) Define singular matrix. (i) [fA B= 3 8--’\‘[3 4|

Roll No.(in Figures):

Maximum Marks;

then find 3A - 2B.

(iii) Simplify: 57 - {:'ﬁ:J (iv)Simplify and write your answer in the form of a + bi. (=7431)(-3+ 2i)
(v) Find the value of 'a" loga 6 = 0.5 (vi)Express in ordinary natation:6> 107
(vii)Reduce 1o the lowest form: (X+y) _._1_ (viii) Simpliy; \/?1" A4 W3 ,)

l"i Yy

(ix) Factorize: 27 + 8x’

(3. Write short answers to any SIX (6) questions: i el (2x6=12)
(i) Define HCF (i) Solvetheequation: 2 3§
(iii) Solve the equation: 3 + 2x| = 1bx 7] (iv) Define ordered parr.

(v) Find the values of m and ¢ of the line expressing it in the form ofy “mx + ¢:2x -y =3
(vi) Find the distance between the points: A(9.2), (B(7.2)

(vii)Find the mid-point of: A(-4.9). B(-4 . -3)

(viii) What is meant by S.A.S, postulate”

(ix) One angle of a parallelogram is 130°, Find the measures of its remaiping@@ngles,
(4. Write short answers to any SIX (6) questions: A M { (2x6=12)
(i) Define right bisector of a line segment, ' '

(if) I Jem and 4em are lengthglof. two'Sides ol @ Mghtangled triangle what should be the third side's

length of the triangle.  © (i), Defme ratio.
(iv) In ispsceles triangle POR shown in figure. Find the value of X and y
(v) Define,pythagoras theorem.

(vi) Verify that lrmm,lt having following measures of sides is right an;.,!uj a ‘iunb 12¢m, ¢ = 13em
i}

L

(vii)l'ind the area: (viii) Construct triangle ABC in which mAB =4 6em.mAC -dem.m ZA=60)
]
T [)
(ix) Deline orthocentre. PART - II
Note: Attempt any three questions. Question number 9 is compulsory. (8x3=24)
05. (3) Solve the system of linear equation by Cramer's rule: 2x +y =3, 6x + 3y =1 4
Er B
a y3@ 3 a’
(b) Simplify: J 2\ J ; 4

06. (a) Use log tables to find the value of $2.709 x {/1.239 4
(b) Mx2+y2+22=T8andxy + yz+ 2x = 59, then find the value of x 4 y 9+ z 4

(7. (a) Factorize by factor theorem: 2¢* + x2-2x - 1 4
(b) Use division method to find the square root of the following expression: 4x? + 12xy + 9y* +

16x + 24y + 16 4

08. (a) Solve the given equation; }, (-‘é-é]*iz?;(;*-‘l) 4

(b) Draw altitudes of triangle PQR, when mOR = 4.5cm mPQ = 6em and mPR = 5.5¢m 4

(9. Prove thal, any point inside an angle, equidistant from its arms, is on the bisector of it 8
(OR) Prove that, triangles on the same base and of the same altitudes are equal in /%%m
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